
T.O. SLAB
0"

T.O.S. ROOF
26' - 0"

girt-2
8' - 0"

girt-3
16' - 0"

girt-4
24' - 0"

21

STOREFRONT -
SEE ARCH. DWGS.

VAPOR BARRIER

4' - 7" 1' - 6"

10.00°

AIRCRAFT CABLE COORDINATE
w/ MECHANICAL AND

ARCHITECTURAL DRAWINGS
FOR SPACING - LOCATE AT

JOIST CENTER

4 SQ x 1/2" PL AT
COLUMN FOR STRAP

TO SECURE DUCT

DUCT - SEE MECH. DWGS.

BEAM - SEE PLAN
(SF-101)

GIRT FRAMING -
SEE PLAN

GIRT FRAMING -
SEE PLAN

GIRT FRAMING -
SEE PLAN

CONT. 6"x3"x3/8"(LLH) BENT PL @
UNDERSIDE OF JOIST ENDS
SHORT LEG AT 10°

CONT. L5x5x5/16 PERIMETER
ANGLE (TYP.)

WORKPOINT: CENTER
OF COLUMN AT TOP OF SLAB

8 1/2"

4
"

1' - 5"

1' - 6"

1/4 5"

1/4 5"
TYP. EA JOIST

8 1/2"

EL. GIRT FRAMING

SEE PLAN

A-A

SECTION A-A

CLIP ANGLE TOP
AND BOTTOM

HSS COLUMN

8 1/2"

1
/4
" 
G
A
P

L4x4x1/2 x 0'-8 1/4"
TOP AND BOTTOM

1/4

TYP. T&B EACH
LEG

1/4

TYP. T&B EACH
LEG

1/4
FULL
LENGTH

RETURN TOP
AND BOTTOM
3"

GIRT

1/4" PL

L4x4x1/2 x 0'-8 1/4"
TOP AND BOTTOM - SEE
A1/SF-500 FOR WELDING

12" INCLINED COLUMN
AT CORNER

5
"

1
"

6
"

T.O. SLAB
0"

girt-2
8' - 0"

PROVIDE 3/8" WEB
STIFFENERS EACH SIDE

1/2" CAP PLATE w/(4)
3/4"Ø BOLTS

1 1/2"

1 1/2"

W12 CURVED
BEAM

PROVIDE L4x4x1/2
CLIP ANGLE

JOISTS - SEE
PLAN

TYP.
3" (EOD)

STEEL DECKING -
SEE PLAN

COLUMN-
SEE PLAN

CONNECTION (TYP.)
SEE DETAIL A1/S-003

CONNECT GIRT TO BEAM
w/L7x4x5/8 (LLV)x 8" LONG

HSS GIRT (ALONG RADUIS
AND ROTATED 10°

COLUMN-
SEE PLAN

SLAB-ON-GRADE -
SEE PLAN

CONCRETE CURB -
SEE SB-100

E5

SF-502

________

18

D.82

D.81

7
"

PROVIDE L6x6x1/2
x 1'-3"

5/16

RETURN TOP
AND BOTTOM
FULL LENGTH

E.5

PROVIDE 9" x3/8"
BENT PLATE w/(3)
3/4"Ø A325 BOLTS
TO BEAM - WELD TO
COLUMN

PROVIDE L4x4x3/8 x0'-9"
w/(3)3/4"Ø A325 BOLTS
WELD TO BEAM

INCLINED COLUMN
SEE PLAN

D.82

1' - 3 1/2"

AT TOP OF
STEEL PL

PROVIDE 19" SQ x 1 1/4"
BASE PLATE

BEAMS BELOW
SEE PLAN

5/16

18

D.81

PROVIDE 9" x3/8"
BENT PLATE w/(3)
3/4"Ø A325 BOLTS
TO BEAM - WELD TO
COLUMN

PROVIDE L4x4x3/8 x0'-9"
w/(3)3/4"Ø A325 BOLTS
WELD TO BEAM

1/4
FULL
HGT

RETURN TOP
AND BOTTOM
FULL LENGTH

girt-3
16' - 0"

18

GIRT - SEE PLAN

5"SQ. x 3/8" PL
(TOP AND BOTT.)

GIRT EL.
8'-0"/16'-0"/24'-0"

TYP. 2-SIDES

TYP.

TYP.

girt-3
16' - 0"

13

GIRT - SEE PLAN

3/8" PL
(TOP AND BOTT.)

GIRT EL.
8'-0"/16'-0"/24'-0"

TYP. 2-SIDES

TYP. 3-SIDES

TYP. 3-SIDES

13

K

5"

1"

6"

SEE GIRT CONNECTION
AT CORNER DETAIL

A4/SF-500

12" INCLINED COLUMN
AT CORNER

GIRT - SEE PLAN

GIRT -
SEE PLAN

9 1/2"

9
 1
/2
"

D.8

18

D.81

1
1
"

8
 1
/2
" B9

SF-500

________

HSS GIRT, TYP.

L4x4x1/2 x 0'-4"
(TYP.)

COLUMN - SEE PLAN

NOTES:

1.  SIM. LINE-14
2.  TOP PLATES NOT SHOWN
     FOR CLARITY

1/2" 1/2"

ANGLE TO COL

TYP. 3-SIDES

D.8

12 13

D.81

1
1
"

1' - 6"

2" 1' - 4"

HSS GIRT, TYP.

L4x4x1/2 x 0'-4" (TYP.)

COLUMN - SEE PLAN

8
 1
/2
"

NOTE: SEE B7/SF-500
FOR ANGLE WELDING
REQUIREMENTS

7" x 1'-4" x 3/8" PL TOP AND BOTT.
TYP. (NOTCH AROUND COLUMN)
TOP PL NOT SHOWN FOR
CLARITY

A9

SF-500

________

H.1

12 13

H.05

8 1/2" 9 1/2"

5
"

GIRT -SEE PLAN

(E) BLDG

COLUMN -
SEE PLAN

L4x4x1/2 x 6"LONG
TOP AND BOTTOM

TYP. 3-SIDES

TYP.
3-SIDES

A
l l
ie
d
 E
n
g
in
ee
ri
n
g

S
tr
u
ct
u
ra
l 
 M

ec
h
a
n
ic
a
l 
  
E
le
ct
ri
ca
l 
 C
o
m
m
is
si
o
n
in
g

1
6
0
 V
er
a
n
d
a
 S
tr
ee
t

P
o
rt
l a
n
d
, 
M
a
in
e  
0
4
1
0
3

T
:
2
0
7
.2
2
1
.2
2
6
0

F
:
2
0
7
.2
2
1
.2
2
6
6

W
eb
:
w
w
w
.a
ll
ie
d
-e
n
g
.c
o
m

D
a
te
:

D
ra
w
n
 B
y
:

C
h
e
c
k
e
d
 B
y
:

P
ro
je
c
t 
M
g
r:

P
ro
je
c
t 
N
o
:

C
a
d
 F
ile
:

10987654321

10987654321

A

B

C

D

E

F

G

A

B

C

D

E

F

G

C
O
P
Y
R
IG
H
T
 2
0
1
5
 A
L
LI
E
D
 E
N
G
IN
E
E
R
IN
G
, I
N
C
.

C

G
ra
p
h
ic

S
c
a
le
:

1
"

0
"

N
  
 O
  
 R
  
 T
  
 H
  
 E
  
 A
  
 S
  
 T
  
  
  
 A
  
 I
  
 R

P
O
R
T
L
A
N
D
 I
N
T
E
R
N
A
T
IO
N
A
L
 J
E
T
P
O
R
T

1
0
1
1
  
W
E
S
T
B
R
O
O
K
 S
T
R
E
E
T

P
O
R
T
L
A
N
D
, 
M
A
IN
E
 0
4
1
0
2

1
5
0
2
8

W
P
F

T
G
RA

N
T 
HA

YS
 A
SS
O
C
IA
TE

S
A
RC

HI
TE

C
TU
RE

 &
 IN
TE

RI
O
R 
D
E
SI
G
N

P.
O
.B
O
X
 6
17
9 
FA
LM

O
UT
H 
M
AI
N
E
 0
41
05

20
7.
87
1.5
90
0
 w
ww
.g
ra
nt
ha
ys
.c
o
m

N
:\
P
ro
je
c
ts
\2
0
1
5
\1
5
0
2
8
 ~
 N
o
rt
h
e
a
s
t 
A
ir
 T
e
rm
in
a
l 
B
u
ild
in
g
\0
0
 D
ra
w
in
g
 F
ile
s
 v
2
0
1
5
\1
5
0
2
8
S
.r
v
t

0
1
-2
7
-2
0
1
6

SF-500

P
E
D J
P
M

S
T
R
U
C
T
U
R
A
L
 -
 D
E
T
A
IL
S

1
5
0
2
8
S
.r
v
t

 1/2" = 1'-0"

B1 SECTION AT INCLINED COLUMN

 1" = 1'-0"

A1 GIRT TO 12" INCLINED COLUMN CONNECTION

 1" = 1'-0"

A4 GIRT CONNECTION @ CORNER

 1/2" = 1'-0"

F5 STEEL ELEVATION AT MAIN ENTRY CANOPY

 3/4" = 1'-0"

B5 ENLARGED PLAN VIEW

 3/4" = 1'-0"

D5 ENLARGED PLAN VIEW

 3/4" = 1'-0"

D7 ENLARGED PLAN VIEW

 3/4" = 1'-0"

D9 ENLARGED PLAN VIEW

 3/4" = 1'-0"

B9 DETAIL

 3/4" = 1'-0"

A9 DETAIL

 1" = 1'-0"

F9 GIRT CONNECTION

 3/4" = 1'-0"

B7 GIRT CONNECTION

 3/4" = 1'-0"

A7 GIRT CONNECTION

 1" = 1'-0"

G9 GIRT CONNECTION


	Sheets
	S-000 - STRUCTURAL - NOTES
	S-001 - STRUCTURAL - NOTES
	S-002 - STRUCTURAL - ROOF LOADING PLAN
	S-003 - STRUCTURAL - TYPICAL DETAILS
	SB-100 - STRUCTURAL - FOUNDATION PLAN
	SB-200 - STRUCTURAL - BASE PLATE TYPES AND ENLARGED PLAN VIEWS
	SB-500 - STRUCTURAL - FOUNDATION DETAILS
	SD-100 - STRUCTURAL - DEMOLITION PLAN
	SF-100 - STRUCTURAL - SECOND FLOOR LEVEL FRAMING PLAN
	SF-101 - STRUCTURAL - GIRT FRAMING LAYOUT PLAN
	SF-102 - STRUCTURAL - ROOF FRAMING PLAN
	SF-200 - STRUCTURAL - ROD CROSS BRACING ELEVATIONS AND DETAILS
	SF-500 - STRUCTURAL - DETAILS
	SF-501 - STRUCTURAL - DETAILS
	SF-502 - STRUCTURAL - DETAILS


